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1. Statistical mean which is not affected by aiRegasra wied S TRH AE A geTfad =8 2R

extreme values is :
(a) Arithmetic mean (b) MedianlL—"
(c) Harmonic mean (d) Geometric mean
2. Median is :
(a) Central tendency (b) Positional average
terCentral value  (d) Most frequent value
3. Standard deviation : _
: C(E)/is, square root of arithmetic mean of the
squared deviation '
(b) is the average difference between the items
of distribution and mean of that series
(c) represents the dispersion of the sample
mean around the total population mean
(d) ignores 50 percent of the extreme items
4. Which of the following statement is not correct?
(a) The mean is that point about which the sum
of the deviation is zero
(b) Quartile is a measure of position that
divides data into four equal parts
(c) If the frequency distribution is symmetrical,
the mean, mode and median are same
L)(”"h’ constant is added to all the observations
in a sample, the value of standard deviation

is changed
5. Mode can be located graphically with the help
of ... \ -
(a) Bar diagram (b) Pie diagram
v (cHBtogram (d) Line diagram
6. Quartile deviation is : '

(a) easy to understand and calculate
(b) iuznaffected by extreme items
(c) is quite satisfactory

» (Al of the above

7. Calculate mean and median of 17, 19, 13, 17,

13, 11,21
(a) X = 14, Median = 12

W = 15.8, Median =17
(c) X = 13, Median = 12
(d) X = 16.2, Median =13
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Which §ampiing method is appm\t@ﬁ‘itcﬁé“”‘g‘ﬂ P'ﬁ%&“ﬁnﬁ il WPJ 3 wfereef Bic & fore freel

. of heterogenous population ?

(a) Random sampling
tratified sampling
(c) Probability sampling
(d) Systematic sampling
Which of the following can be studied by
scatter diagram method ?
(a) Regression

by Correlation

10.

1.

12.

18

14.

15.

17.

(c) Frequency distribution

(d) Variance

To determine variation”in wing length of

butterfly from five different places would be

best statistical test : '
-test

(b) Student t-test

(c) Regression analysis

(d) Chi-square (7_2) test .

The colostrum secreted by mammary glands

contain which immunoglobulin ?

@10 (brHyA (@) IgM  (d)IgE

Internal defence mechanism include :

(a) Complement system

(b) Phagocytosis

(c) Natural Killer cells

{__(dyAll of the above

Which statement is correct about AIDS ?

(a) HIV transmitted through infected blood
syringe

(b) It's causative agent is HIV retrovirus

. (c) It is a sexually transmitted disease

(Al of the above
at is the nature of immunoglobulin ?
(a) Phospholipid ey Glycoprotein
(c) Protein (d) None of the above
Primary lymphoid organs are :
(@) Thymus and spleen
(b) Thymus, bone marrow, spleen
€)’Thymus and bone marrow
(d) Thymus, bone marrow, spleen and lymph
nodes.
Antiserum contains :
(a) Antigens tibodies
(c) Leucocytes (d) None of the above
Which of the following is a pair of viral
diseases ? .

* (@) Ringworm, AIDS

(b) Dysentry, Common cold
ommon cold, AIDS
(d) Typhoid, Tuberculosis
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18.

18. In the given combinations. one is mismatched.
Select the mismatched combination :
(_(a)Helper T-cells-Suppression of immune
system
(b) B-lymphocytes - Production of antibodies
(c) Cytotoxic T-cells - Killing of microbes
(d) Interferon - Block viral protein synthesis
19. Match the List-| and List-Il and choose the
correct alternative :

List-l List-ll
1. Macrophage (a) Lysozyme
2. Skin (b) Interleukin-l

3. B-Lymphocytes () Interleukin-I
4. Helper T-cells (d) Immunoglobulin

Codes :

1 2 3 4 1 2 3 4
(@)c d b a (bya b ¢ d
()b a d c ¢ (< a d b

20. Which of the following disease is due to an
allergic reaction ?

(a) Goitre (_yHay fever

(c) Skin cancer (d) Enteric fever
21. Histamines are secreted by :
\_{ayTast cells

(b) Nissil's granules
(c) Kupffer cells
(d) Macrophages
22. Immunity involves :
(a) Recognition
(b) Resistance
C(c)yBoth (a) and (b)
(c) None of the above
23 Acondition in which a person’s immune system
fails to recognize its own MHC proteiné ;
(a) Allergy
(b) Immediate hypersensitivity
(c) Delayed hypersensitivity
(_(dyAutoimmune diseases
24. Antibodies consists of :
(ayTwo light chains and two heavy chains
arranged in a Y shaped structure

(b) One light chain and two heavy chains

arranged in a Y shaped structure
(c) Two light chains and one heavy chain
arranged in a Y shaped structure

(d) All of the above
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20.

21.

224
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24.
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engineering are safe as :

" pathogen |
(b) They are least active form of virus
() They are attenuated form of pathogen
(d) All of the above

2. The immunoglobulin .......... 1S secreted during
the primary immune response and ......... is
. secreted in secondary immune response.
(a) \gM/IgE (b) IgE/IgA
(o) lgA/igD (_(ey1gM/IgG
27. Resistance to the chicken-pox is an example
of .

(a) Naturally acquired passive immunity
(b) Artifically acquired active immunity
Mturally acquired active immunity
(d) Artifically acquired passive immunity
28. MHC gene present on :
(a) Satellite chromosome
chromosome
(c) 4th chromosome
(d) Sex chromosome
29. Active artificially acquired immunity is a result
of : ' _ '
ntact with a pathogen
(b) Vaccination \_—
(c) Antibodies passed on from mother to foetus
through placenta
(d) None of the above
30. Which of tha following vacciné does not
provide life time protection ? ‘

(a) Polio SRR PT
4y Tetanus (d) Small-pox
31.  The hypervariable regicn in antibody resides in
the :

(@) N-terminal region of light chain
Winal region of light and heavy chain
C) C-terminal region of light chain
(d) C-terminal region of light chain and heavy
chain
32. The bonds involved
interactions are : -
(a) Weak hydrogen bonds and van der Waals
forces
(b) Strong cevalent bonds
(c) Strong djsulphide bonds
(d) All of the above

in  antigen-antibody
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38.

lesig19A

Dhream f.oppm

Following some responses are generated
during immune response :

1. Agglutination 2. Opsonisation

3. Antibodies 4. T-lymphocytes .
Select the combination which contains
‘Components of humoral immunity :

(@) 1and 4 (b)1,2,4

(d)1,2,3

In which part of cejl antigens are found ?

(a) Cytoplasm  {__4) Cell surface

(c) Nuclear envelope(d) Nucleus

Choose the correct match :

Group-|
(a) IgMm
(b) IgG

1. Crosses placenta
2. Colostrum

3. Pentamer

(d) Ige 4. Allergy
Codes: |
(@) a-2.b-1, c-3 d-4
(b) a-2, b-1,c-4, d-3

}_{er8-3,b-1,c-2, d-a

(d) a-4, b-3, c-2, d-1

‘Magnification of an objective of the mlcroscope 36.

is equal to :

Tube fength -
b Focal Iength of the objective

(b) Tk Tube length
Angle of aperture
©) —— Tube Iength
Refractlvemdexof the medlum
(d) — Radlusp_f_a;_)nrture '
Focal length of the objective
Which of the following is based o
of Beer-Lambert Law ?

(a) Scanning Electron Mic

nthe principle

roscopy

wSpectrophotometry I 37.

(c) Centrifugation

(d) Electrophoresis
Which of the followin
Chromatography ?

(a) Paper chromatography
(b) HPLC

9 is not a type of

(©) TLC | 38.

{_HPAGE

,Al-&esb-ﬁmq P!atFr:-r'm
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‘a9 ELISAis based on:
B, q/(a)'Antigen-antibody interaction
: (b) Antigen-protein interaction
(c) Lectin-antibody interaction
(d) All of the above
40.  Electrophoretic mobility depends upon :
€)) Weight (b) Size
(c) Charge LMH of the above
41.  Which of the following technique is suitable to
separate RNA ? .
(@) Western blotting (b) Southern blotting
¢ (cyMorthern blotting (d) Eastern blotting
42. A phase contrast microscope is used :
(a) For increasing resolving power

(b) study cell and their components in a
living state using a phase.difference in the
light ray -

(c) Perform both functions
(d) None of the above
43. Photograph which is taken from microscope is

known as :
(a) Macrograph  (__(byMicrograph
(c) Monograph (d) Pictograph

44. Which of the following is best suited to get the
i surface view of an object ?
M
(b) TEM
(c) Both (a) and (b)
(d) Compound microscope
45. Technique which is used for the identification of
radioactive isotopes is :
(a) lon exchange chromatography
(b) Affinity chromatography
as chromatography
(d) Paper chromatography
46. Gel electrophoresis is used for :
- (a) Isolation of DNA molecule
(b) Cutting of DNA into fragments
(c) Separation of DNA fragments according to
their size
(d) None of the above
47. The principle of colorimetry is based on:
(a) lonization properties of proteins and
carbohydrates '
(b) Density of different chemicals
(c) Principle of colours
(d) Properties and absorption of light

S
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48.

49.

50.

52.

53.

&_—€) Microtome
54.

N

Resolving power of microscope means
capacity to : -
(a) Magnify the image
_(bYBistinguish between two close point
(c) Both (a) and (b)
(d) None of the above
Electrons of scanning electron microscope areé
reflected through :
(@) Glass funnel \—sfMetal coated surface
(c) Specimen (d) Vacuum chamber
Match the List-l and List-ll and choose the
correct pair :
List-l List-ll
1. Electron microscopy  (a) Martin & Synge
2. Rotary microtome (b) Knoll & Rusca
3. Florescence microscopy (c) Minot
4. Paper chromatography (d) Kohler

Codes : *

A N-b, 2-c, 3-d, 4-a (b) 1-b, 2-d, 3-c, 4-a

(c) 1-c, 2-b, 3-a, 4-d (d) 1-a, 2-b, 3-c. 4d
The cuvette used in spectrophotometer under
UV light is made up of :
(a) Glass uartz
(c) Both (a) and (b, {d) Nore of the above
Who coined the term ‘Chromatography’ ?
(a) James Clark hiaxwell
(b) Thomas Young
(c) Weizmann ‘
L_teMikhail Tswett
Which of the following device is used for cutting
thin uniform slices of tissues ?
(a) Centrifuge (b) Spectrophotometer
(d) None of the above
A process by which~charged particles more.
through a medium in the presence of an
electric field at a given pH :
(@) Microtomy lectropheresis
(c) Centrifugation  (d) Colorimetry
Read the iollowing statement and choose the
incorrect statement
(@) Measurement of pH depends upon tha
development of a membrane potentja| by a
glass electrode.
(b)The potential of glass electrode is inversely
proportional to the pH of the solution in
which it is immersed.
(c) The another electrode of pH meter is known
as reference electrode,
(d) The reference electrode consists  of
mercury-mercurous chloride (colomel) or
silver chloride immersed in an electrolyte

48.

49.

50.

5

93¢

54.

55.
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: 56. In electron microscope we uses !
! (a) Neuron (b) Neutron

(c) Proton ¢__(dyElectron

'57.  Which of the following is a lens found on

electron microscopes but not on light
microscopes ?
(a) Objective lens {_(byPfojector lens
(c) Condenser lens (d) Eyepiece lens
58. Which of the fellowing is correct for

electroporation ?
(a) Formed ten.orary pores in the plasma
membrane of the host cell
(b) Lysozyme or calcium chloride used in it
(c) These pores used for introduction of foreign
DNA
Udj/ﬁ,xll of the above
59. Hybridoma is biotechnique which involves
fusion of :
(a) B-cell with T-cell
(b) T-cell with Spleen cell
(c) Spleen cell with Myeloma cell
eloma cell with B-cell

60. In DNA fingerprinting, which of the following

sequence are matched ?
(a) Satellite DNA
(b) Microsatellite DNA
misatellite DNA
. (d) Moderately repetitive DNA
61. Which of the following enzyme catalyses the
formation of phosphodiester bond between
adjacent phosphate and hydroxyl group of
DNA nucleotides ? '
(a) Synthetases (_(bAgases
: (c) Polymerasef-l (d) Polymerase-I|
62. Which of the following enzyme is used in the
formation of cDNA ?
L/(a‘; Reverse transcriptase
-(b) Transcriptase
(c) Ligase
(c) Polymerase-l|
63. The bacteria generally used for genetic
engineering is :

(a) Bacillus (b) Pseudomonas
(c) Clostridium

c ' L\)Q)/Kgrobaclerium
64. pBR 322 has which of the following selection

markers ?

(a) Amp'
L(/ij h (a) and (b)

(b) Tet"
(d ) d) None of the above

56.

5.

60.

61.

62.

63.

64.

\ Best - learning Platform

geldgr qanedl # § g 3R 8-

(a) =X
(c) ShgF (d) Feag
Pra A "hm"f{rsﬁm'\’l&‘mﬁﬁmm
E’mmmﬂ Jparredif 7 “E?
a) sif@ifica ikt (b) sirovae el
(c)a—véfﬂz?fﬂ (d) 3T R
St 3 i gelagdier 3 fere Wl #2
(a) G5 @ T et 3 eyt fegd @t Fmion
ar e
(b)mmﬂmmmmzﬁrm

A

' (c)a%a%aﬁuéwémémﬁm?

(¢) IR |
m%maﬁmmwﬁm%??
a) B-PIfaT qen T-HIfeST
(b)T-ﬁﬁmawﬁmﬁ%ﬁ
(C) TIRT PIRNBT TT HIFEAIHT BifeTed!

’ (d)uﬂmﬁf@mawBaﬁﬁmﬂ

Spae R &, Fra § oF-W AEasi o
firem= fosan smar 8°

(a) IceTST ETTT

(b) ATSHRICATZC ST

(c) iFRiEaRT Se=e

(d) ITHI W9 [ SiTU

e 3 SiF-91 ToEy St Yeediess &
witpe 3R BRI 9 & HeT BROBEURR

q1Ug & a1 BT IART BT &7
(a) Rees (b) TR
(c) UTeNTRST-| (d) TRt
ﬁmﬁﬁaﬁn-mm@-é’mﬁsaﬁﬁm
BT 8?

(a) Rexf gierfisest (b) givifimest
(c)ﬁisffﬂ (d) UTeT RS- |l

Shied SRR § qmrae: we 29 g
daciRam 8-

(a) dRMNer (b) TR

(c) darg gy (d) T Ra

PBR 322 § &N Welae wid ardm ST &2
(a) efig™ (b) T . .

() () T (b) BT (d) IRYaw A BIE TE
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85.  Transgenic animals are those which are :
(a) Foreign RNA in all its cells
(b) Fereign DNA in some of its (;eils
oreign DNA in all its cells
(d) Both (a) and (b)
66. Human ihsulin formed by recombinant DNA
technology is knowi as : :
(@) H. insulin (b) R. insulin
~(c) Hu. insulin Humulin
67. HGH (Human Growth Hormone) is secreted
by :
Q/(éfpituitaQr gland (b) Hypothalamus .
(c) Pancreas (d) None of the above
68. Golden rice is a transgenic crop of the future
with the following improved trait :
(a) Insect resistance
(b) High protein content
(/(2)1-Iigh-Vitamin-A content
{d) High lysine content
69. DNA sequencing is done by :
(a) Maxam Gilbert method
(b) Sanger dideoxy method
b(c)}Both (a) and (b)
(d) Watson & Crick
70. Choose the right

technologies :
(@) Introduction, isolation, selection of vector,

step used in rDNA

insertion

(b) Isolation, selection of vector insertion,
introduction

(c) Insertion, isolation; selection of vector,
introduction a '

(d) _Belection of vector, isolation, insertion,

introduction
71. Taqpolymerase is used in PCR because of its :
(a) Low thermal stability
(b) Low fidelity
(c) High speed
igh thermal stability
72.  Which of the following is maximum application
of genetic engineering in animals ?
(a) Insulin (b) Interferons
Vaccines (d) Edible proteins
73. - Which of the following is an incorrect
combination ?
(a) Screening of clone — Hybridization
DNA cleavage - DNA polymerase
(c) PCix - Annealing of primers
(d) RFLP — DNA fingerprinting

65.

66.

67.

68.

69.

70.

71.

A0

73,

iR a:q,aﬁﬁ?lﬁT%—-

(o) ) A RIS AEY INCTE By
(C)gﬂa%ﬁaﬁﬁmsﬁﬂaﬁﬂamﬁm%
(d) (a) T (b) ST . ol
HeEd 8- .

(a) €0 e (b) 30 FfeFT: |
©moFRE (o) T
qu@g@qmemaﬁaaﬁr%‘-
(a) e TR & (b) ERUIICT

(c) 3 ¥ (d) IR H A Drg T
Tieee e, S Wi & gt BT 8, 3w
fopet 3=Ta 0T 2-

(a) BT FRRIUS (b) 3T A AT

(c) 301 eTfE-A AT (d) Il et A
Soa AT & S 8-

(a) o ficed R &

(b) TR SEf3iTaT Rid A

(c) (a) T (b) a3

(d) afewr vd fovas &
mawaﬁaﬁmq&a#rmﬁwﬁaﬂﬁ
TIT HifoTe-

(a) G219, JRIGhv0T, dTed ol Ia, e
(b) YUGHRYT, dTEd &I Td-, e, U
(c) Faem, gUaaRul, dES &I TgH, TH:AUH
(d) IS BT T, YUTHROT, e, G-
ufeiRst et fsar & fee ugea <o dieniia
USIEH ofd 8- -
(a)mmwaﬂﬁﬁwﬁﬁr

(b) &7 fossferel

(c) SaTET IS

(d) ST A9 e oA B! gifd
ﬁmﬁ%ﬂqwa@ﬂﬁaﬂ@ﬁmaﬁmﬁﬁ
&I TN FATaT ST &2

(a) §fer (b) UCRURI

(c) darfr=g (d) @ areh e
1 7 ¥ Bl Gaee Tem

(a) FTI T HTeBia=-HaRor -

(b) S1TAT &1 faravas — Sue diefma

(c) IRNIR — wewR &Y OMferr

(d) IREHEATY — Seaw R
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}4 Application of blotechnology in agncultural field 74 shaified o o &7 & Crteil q

is known as : _ ,
t (a) White biotechnology ST & , Wﬁma
. (b) Blue biotechnology (a) . Stasefiier (b) et
i (c) Red biotechnology (c) enet S (d) &
B e otacgry: 7 Tl
: nt pattern of a child is : Ryar &
é (a) Exactly similar to both of the parents (@) =i AR e 3 ST
!t (b) 100% similar to the father's DNA print (b) 100% fo & St
|~ (0) 100% simil to the mother's DNA print (c) 100% wrer & S fife & ST
, (d)L.58% bands similar to father and rest similar (d) 50% ds foar & SRy 3iR @rdY Il &b Kkl N
= tomother 76. s aifiwifi & sy & faw T A
76. In which stage of genetic engineering
| . . 1 s fapan S 82 L
. experiment, a probe is used ? _ '
(a) Cleaving : (a) feraos (b) HfeTE
\_{b)SCreening : —(«hﬁm (d) 3IeAT &I ?ﬁﬁ:ﬂ
(c) Claning > ‘ ' 77. W%%Uﬁﬁzaﬁmﬁ@mq
| (d) Recombing : Hﬁ?f b
77. Genes that are involved in turning on or off the 133:‘{ aﬁ it B & b
transcription of a set of structural genes are (a) XERRRT AT b) SiTREX A=
called : (c) ReTée I (d) Tt 33"\“
[ o 78. e Sfasiifiiest @1 AT &~
% perator genes ' NN
| (c) Redundant genes . (a) e
| (d) Polymorphic genes (b) RENTEERT
78. Example of red biotechnology.is : ¢) SREMT # TIad g aTﬁ 3?9‘12?5
.‘L L%;ﬁntitpiq;ics (d ) &Y B
esticides AR sy
" (c) Industrial catalysts 4 k. qﬂ%qg ST ;2 ' B &
| (d) Bt corn . Faifds T8~
79. Plasmids are vector for gene cloning because (a) STraTv] PIRTHT H IAFGOH B g :
. they: ‘ (b) SNaTO] BT & aTex TaeT T9 A G BRa
re self-replicate in bacterial cell ‘ 5
(b) are replicate freely outside bacterial cell _ . '
(c) can be multiply in culture C) el BeeR wead § O &R Fhd &
(d) can be multiplied in laboratories using d) ST 3 T=STIEH & YA B R oY Ui
enzyme ax '\‘Wbﬁ g

80. The sequence recognized by the restriction . .
| 80. NI TIEH SITAT B Frey F 57 iy @y

enzyme to cut the DNA is called':

(a) Recognition site EEAI &, a8 8-
L/(b}«Restriction site : - (a) R wge (b) Weaem wee
(c) Boih (a) and (b) (©) (@) vd (b) A (d) aehast g
(d) Cleavage site 81.  wUErgfdeIust
81.  Which point is correct for endonuclease ? ® fere - %§ S %p
(a) T fafére @
(a) It is specific
(b) It cuts the DNA fragments at specific site b) ST g gy %ﬁm WE J Bl
(c) It ig.discovered by \V. .Arber C) STYP R GRI @m R
L(yzﬂ{:f‘the above (d) IRITT Tsh
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82.

83.

84.

85.

86.

87.

88.

89.

———

Probiotics are -
(a) Cancer inducing microbes
(b) Safe antibiotics
(c) New kind of food allergens
d) Live microbial food supplement
Reverse transcriptase is also called :
(a) DNA dependent RNA polymerase
(b) DNA dependent DNA polymerase
NA dependent DNA polymerase
(d) RNA dependent RNA polymerase
Gene therapy is done by :
(a) Giving the medicines
( troducing normal gene
(c) Introducing some salt
(d)-Introducing glucocorticoids
The process of converting environmental
pollutants into harmless products by naturally
occurring microbes is called : -
(a) Ex situ bioremediation
(b) Extrinsic bioremediation

¢_{eyfhtrinsic bioremediation

(d) None of the above
ANOVA means :
(a) Analysis of Vialue .

: Malysis of Variance

(c) Analysis of Variety
(d) None of the above

Correlation is termed as .........: :-when the
values of two variables fall on or stralght line
when plotted on a graph :
(a) Positive (b) Negative
b4 Linear (d) Non-linear
-Which of the following measure shows the
repeated occurrence of a particular value in a
set of observation ?
(a) Mean
(b) Mean deviation
(c) Range
ode
; The term ‘bivariate and multivariate’ analysis

are associated-with :
(a) Stardard deviation
(b) Meacures of central te.ndenCy

(c) Standard error
\M:ﬁeiation analysis

82.

83.

84.

85.

86.

87.

88.

89.

(c) @

marmﬁw%— ,
(b) TRfera Yudiarafea
(d) ST TG W BT ety
Raf giRifpat df a8 W Del ST &-
(a) Suere PR 3TREAT GidRat
(b) B PR Sieae dfelmat
(c) aRe feiR Sieee diclais
(d) REL 3R AIRTAT GfeTreRat
S Ry B S 2
(a) SaTgdl dax
(b) TG S ST THIAE GRS
(C) T TTav] BT THIAL HIBR
(d)@ﬂaﬁaﬂggéswﬁmﬂ

AR JEdl &1 o BoRe e :
m@ﬁawﬁm@ﬁmmmw
&

* (a) Ex situ FrafRAfEee=

(h\ Extrinsic araiRAfzee=
-~ Intrinsic SRNRATEATH
J) IRIFT H I P T8l
ANOVA &7 31ef &-

(a) A T fagemor

(b) RROT-®T fagerqgor

(c) fafdreran @1 fygeraor

(d) IRTTT § I P TE

31 &1 TR 1T aBr A1 s 36 KT SR
RN W7 B WY F IR 7 T S e
HECIT 8- i
(a) &THSD (b) FUTHD
(d) 3R ’
Frer & & Pia-ar anaer fdr fafime
GIRIgRY ) Haqoti 5 e g A e A
(a) |HIET (b) mwﬁaa‘«'

(c) Arof (d) Sgetd 3
TeeR 3R ageR WWWW

'(a)ﬂﬂmﬁ'ﬁﬂqﬁ

(b) Hezrw gl & aber o
(c)miﬁ,'"\ﬁ’f

.(d)mﬁsﬁw?{
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Match the following from -List-1 and List-I| and

Aims of biostatics are :
(a) To draw valid inferences from the data

(b) To design experimental investigations and
sample surveys for generating data .
(c) To organize and represent the data in

suitable tables, Wgraphs
(d) All of the above %

L -

choose the correct option : o
'st‘l') List-li
== \[ =x100 (a) Arithmetic mean
X
2.X = T~ () Coefficient of variance
3 >fd
y (c) Standard error of the mean
4 SD
“Jn- - (d) Mean deviation
Codes :
12 3 4 12 3 4
(@a b ¢ d by b d a ¢
(©)c a b d {_/(,b)/ﬁ a d c
Which of the following is not a measure of
variability ? 91,
~ {a) Range -
(b) Arithmetic mean{_—~7
(c) Coefficient of variation
(d) Variance 92.
Coefficient of standard deviation is :
@X T (©Xx100 @)X
X o o}
Match the List-l and List-Il and choose the
correct option : ‘ .
List-l List-ll
1. Correlation (a) Francis Galton
2. Analysis of Variance - (b) Karl Pearson
3. Regression (c) G.U.Yele -
4. Measures of central ~ (d) R.A. Fisher
tendency
Codes : 7
1 2 3 4 1 2 3 4 :
(@ya b c d (b)bdac(/ _
(©0b ¢ d a (dc-b a d 94
Length. of eight earthworms was recorded as '
23 cm, 22 cm, 24 cm, 16 cm, 17 cm, 18 cm, 19
cm and 21 cm. Compute standard deviation for
the above data :
.98 cm (b) 3.85 cm
Ei) 5 58 cm (d) None of the above {__—85,

q&ﬂsﬁzqﬁ’fllﬂﬁmmﬁaﬂaﬁmsﬂiﬂa

fawea gfe-

el -1l
1.5 4100 (a) THFR HEA

JX -
z.>‘e=£n’i (b) SRROT T
3, 209, (c) Teal Y T AT |

n
522 (d) wezr fager

" Jn

-|: 2 3 4 .1 2 3 4
(@@a b c d (b) b d a c
(¢gc a b d (o) b a d ¢
Brey 1 2 -1 R &1 =G 6 82
(@) Ao (b) TR H1EA
(c) Fr=an 1ot (d) TEROT
Wﬁwawm%— o
(a) X (b)—— | (C)——x100 (d)——
qz?nsﬁ?ﬂﬁrnﬁﬁm:{a%ﬁmsﬂwaﬁﬁm
gfe-

iy ESeial
1. G891 (2) WIS TeeA
2. YEROT &1 fageryor (b) Fret o=
3. ST (c) Shogodet

4éa—éﬂmrqﬁfaﬂmq (d) 3TROTOfGER
?3_

1 2 3 4
(@da b ¢ d
(cYb +e¥id™a

i 28ES
()b d a

4
c
(dec b a d

1S ST I TFTS 23 cm, 22 cm, 24 cm, 16

cm, 17 cm, 18 cm, 19 cm @ 21 cm YR T ESl
3wl 1 IS faue Hafeme-
(@) 2.98 cm (b) 3.85 cm

(c) 2.58 cm (d) IRFT F I DI T
ﬁavﬁ‘@a%ésﬁw%‘—

(b)sn—aa?rmaﬂﬁas%wm‘rﬁmsmm

Eﬁf%mﬁmamﬁma‘rw
() 3R AR, R g A
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v : DFv qﬁ;ﬁfﬂéﬁ . ﬁﬂﬂﬂﬁﬂ?ﬁ(SD)Qia

96. If the standard deviation of a population is 9,  96. i
then variance will be : IRROT - 81 (d) 21
(@) 9 (b) 13 L«nﬂ (d) 21 @9 (0) 13 (c;mméa
97. What is the relationship between mean, g2 qed, tnﬁmamw R :
median and mode ? (21)@@:3,1{%-—2%
(@) Mode = 3 Median - 2 Mean b) 5 wifeat = ggeid + 2 e
(b) 3 Median = Mode + 2 Mean ( szmW_agﬁa‘i
(c) 2 Mean = 3 Median — Mode (c) 271 o
t_&dyAll of the above (d) Fayad T it 1 R
98. Calculate the arithmetic mean of 10 g8 ﬂﬁﬂﬁ?\ﬁOﬁW@éﬁmﬁm@ bl
observations related to length (in cm) carrots el difoTe- :
given by : 11,12,10,10.5,9.8,10.7, 11.2,9.3, 123918
11-, 12, 10, 10.5, 9.8, 10.7, 11.2, 9.3, 12 and (a) 10.54 (b) 10.64 (c) 10.44 (d) 10.34 |
8.9, - . .
740.54 (b) 10.64 (c) 10.44 (d) 10.34 99, IR aaglai?r] Em' S
99. Coefficient of correlation : (@) v &
(a) can take any value (b) ¥Tad + 1 3 arferd ‘
(b) is always more than + 1 (c) g — 1A DA gl &
(c) is always less than -1 _ _ (d)+1am_1éséﬁﬂﬁaﬂg3ﬁmﬁmi
_  (@Tan take any value between + 1 and -1 100, F Ty affaet 3 x BT A & 2, Tie Tiftas
) 100. What is the value of x in the given data if the ' B '
median is 19 ? ' '1~5 20. 23, 27
3,8, 15, x, 20, 23, 3. QT <Y o 3
(a) 20 @/ (©15.° (d)23 @20 (®19 (©15 (@23
Answersheet : a4
1. (b) 2. (0 3. (a) 4. (d) 5. (¢) 6. (d) 7. (b) 8. (b) - 9. (b) _10. @)
11. () 12. (d) 13. (d) 14. (b) 15. (c) 16. (b) 17. (c) 18. (a) 19. (d) 20. (b)
21. (8) 22. (c) 23. (d) 24. (3 25 (a) 26. (d) 27. (c) 28. (b) 29. (b) 30. (@)
31. (b) 32. (@) 323. (c) 34 (b) 35. ey 36.._(a) I (b) 38. (d) 39. (a) 40. (d)
41. (c) 42. (b) 43. (b) 44. (a) 45. (0) 46. (c) 47. (d) 48. (b) 49. (b) 50. (3
- 51. (b) 52. (d) 53. () 54. (b) 55. (b) "56. () 57. (b) 58. (d) 9. () 60. (@
61. (b) 62 (a) 63. (d) 64. (c) 65 (c) 66. (d) 67. (a) 68. (c) 69. (c) 70. (b
M. @ 72 (© 73 () T4 (@) 75 () 76. (B) 77. () 78. (@) 79. (a) .80. (O)
81. (d) 82 (d) 83. (c) 84. (b) 85 (c) 86. (b) 87. (c) 88. (d) 89. (d) 90. (d
91. (b) 92, (b) 93. (b) 94. (d) 95. (d) 96. (c) 97. (d) 98. (a) 99. (d) 100. (0

mgﬁaﬁumﬁﬁaﬁw%ﬁ%ﬁw@ammwmﬁmwélﬁﬂ%ﬁaﬁsﬂﬁaﬁénﬂ%ﬁawg%yﬁwéﬂ

J g T | d 399 $IRd &ifd srar w=m & e dkadg, g dun qehb o B afia T a@nm|
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